Welland Gouldsmith School
Mathematics Answer Key
Class-1

A. Count together.
LI+ TT=9

( YYEX Y XY B

KRR RR+HH R % =8

Em+Em=4

OOOOO+OOOOO=10

vk wnN

B. Add and match.
1. 3+4= 87/<::000
. 4+4= eoe

2
3. 5+1= 6 oo

4. 3+2=%§..
5. 242= 4 coces

1. TO 2.TO 3.TO 4.TO 5TO
43 56 31 78 92
+21 +33 +45 +21 +05
6 4 8 9 76 99 97

D. Solve.
1. HTO 2.HTO 3.HTO
341 542 6 83
+421 +417 +3 01
762 959 984

4HTO S5HTO 6.HTO

561 332 789
+4 31 +3 52 +210
992 6_84 999

E. Do exercises in Number Magic Book pg23B, 24C, 30 and 32.
Pg 23B. Add by counting forward.
1. 3 7. 8



10.

11.

12.

Pg 24C. Add.

Pg.30. Add.
1.8
4.5

3.9
6.8
9.9

2.

5.8
8.8

7.9

Pg . 32 Fill in the blanks.

10.
11.

12.



